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Appendix C


Linear Relationships
5-Step Hypothesis Testing:

I. H0:  B1 = 0

Ha:  B1 = 0

II. Level of Significance = .05

III. Test Statistic:  t = b1/sb1 , t = 13.94 (size)

IV. Critical t = t.025, 98 = 1.99

V. Reject hypothesis; 1.99 < 13.94, b1 significant and has some kind of linear 
relationship in.
I. H0:  B0 = 0

Ha:  B0 = 0
II. Level of Significance = .05

III. Test Statistic:  t = b0/sb2 , t = -6.74 (value)

IV. Critical t = t.025, 98 = 1.99

V. 1.99 > -6.74; Fail to reject H0, b0 not significant and not useful in the 
regression equation.
